


0, Y&, o (Spon B BEl] S Snto e

Codhermere: & (FF} SRERE e B N
(.CT_&KL) ( Fi") = % f},‘—t- H[S_L-x..--- * (Sh_\ e(;?&r\Sﬁ” ._.;/Sh__;}




= ——

Tonge 'Xa (0‘) = Xo, (0’) iP\,-'-, [5.:9)
Ai-X | *
Xo(X) = O o A -X)
=(A1-X) ... (A-X) ‘

= O\\L"O‘\ v on FO\M t-0) (')\,\c—d) (g?cmi(s,, {B;S)
.C_b\[ (.—cs') s (ﬁr o (_o:) (_)PN\} J -«’S\

s 'Nzﬁ—c-\ kg \
P p



default
Rectangle

default
Rectangle

default
Rectangle

default
Rectangle

default
Rectangle

default
Rectangle

default
Rectangle


it o-eLLW) din \/=n, then din Span 9,02 e
er s a deqee n Fblig\(bwioj\ thod o sotishes.
buk dim Spoanle, 0,673 con e smalles s
cokichies o pc:lkxmwua_}\ e écx:y@& <a.
Def WU Al e LIV\)

The Minimo o |
—_— W\omiw _Q
L e

Sn

(A= [‘7]/)

¢ (or of A) ikl
n
1S ﬂ\e MGNQ %!\Ar\owcx)\ P

o (or A) swsfm

o (Or ma)

the

lowes+ dgee

coefficient of highest degree is 1,
e.g. X+ ax +h, x3+ax?+bx+c



default
Stamp


? FOC'&'S‘ \ i+ Mo exists, dhen X S ’L
ik 40120 then mo dide
| X
/ r )‘_D #(; | Abﬂ. SlE fLB %M‘TLVV‘; :

S.
a\o'z‘-‘\‘mdf a}-.q\e‘bm Th.S%
1.8 Lo(9)=Mo(x)f()

‘[FDM TR QQ CLM\!QOO, 'H\QJ\ \l/ |
/gl J‘m-—LhM‘-{gh Sau s '{L\ojf Me- L\niqk

|
Vit dim\/ e 0{3/ 'H\en M, Mlaﬁ M* gk



default
Rectangle

default
Rectangle

default
Arrow





